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Time : 3 Hours

EAMCET 2012 Medizine Question Paper
Marks : 160

Imstructions :
(i} Each question carries ome mark,

28 (@)% ws 0y, fod,

(i1) Choaose the correct or most appropriate answer from the given options io the following questions
and darken, with HB pencil, the comesponding digit 1, 2, 3 or 4 in the circle pertaining 1o the
question number concemed in the OMR Answer Sheet, separately supplied to you.

&3 ad)s D8 295 adgedsd o448 0TS Birgiind 50 o)
ardod wo2 1, 2, 3 €% 4 FHhor adyS OMR Hdrgd H8dnd (A%
Dowododd Dopgho bUEH HB 388 Sgm Wahd v

BOTANY

1. Study the following lists
i Sod erDeroid uﬁaﬂi‘nﬁa Sa08

List-1 List-11
(A) Henry Dixon (I} Bioelectrical responses
(B) Slatver and Taylor (II}) Cohesion-Tension theory
(C) Levitt (1) Active proton concept
(D) 1.C. Bose (IV) Water potential

(V) Term ‘Physiology®

Do arDor-11
(A) e B30 () &5 Jeoph |28 S
(B) el Beb (I) Bodous-S$S5zer horodo
(C) Bn& (II) 38cir |Sferio ordd
(D) % &5 (V) 28 4530

(V) "badirea’ o 580

The correct match is
ad HOTRE Sfdody

(A) (B) (€ (D
(I V) @ vy an
2) (V) ay (@ (u
(3) (I vy {am (o
(4) () @ avy (v)
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2. If the number of stomata is 30 and the epidermal cells are 120 per unit arca of a leaf, then
the stomatal index is
of Bfcd® o¥ (pire ITogod® B|E dogre Dopg 30 Hbdkn erirg =1-F|
Eoro Dopg 120 soxisypds Dgdold Drod
(1) 0.02 (2) 0.05
(3) 0.2 (4) 0.5

3.  Study the following lists
& (508 wDerod wgdhdo Jdfod

List-1 List-I1
(Element) (Component co-factor)

(A) Magnesium (I) Energy currency of the cell

{B) Sulphur (11} Enzyme catalysing biological nitrogen
fixation

(C) Phosphorus (111} Enzyme catalysing phosphorylation of
glucose

(D) Molybdenum (IV) Enzyme catalysing decarboxylation of

oxalosuccinic acid
(V) Amino acid coded by AUG

aPor-1 aDer-II
(Saredo) (warhbo Siredia)
(A) bhyadbds () &= 48 drdo
(B) T;:m;],ﬁ () &35 58zl ?3}&-:&" ad)jdsor DT H JRE=s
(C) rHyds () Are'S P ypTaSS ad)yjdtonr 2ITH ISBD
D) Srdfd (IV) esy&HEyk alie Aoy ByTand’ adyyd¥or
S0ED INES

(V) AUGSE HodBodad H_@.ﬁ" @ B0

The correct match is
a8 HOThD =fdoy

(A) (B) (€ (D
(1) (1) (I (@) (V)
(2) my vy (@ ()
(3) (I (O (V) (1)
@ (V) av) [ (m

Rough Work
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4. ldentify the wrong statement
(1) ATPase serves as a proton-translocating carrier protein
{2) Proton motive force drives the unipon
{3) Agzides inhibit the process of respiration
{43 The movement of NO, ions in co-transport is against their own concentration gradient
BhsD a‘ﬁmsm fafodad
(1) ATPOE |Fer5-Garer ovird @FdSm 8'djydadiod
(2) Lﬂ"ﬂ‘E 288 weoo -:ﬁ.:l‘-ﬂﬂ'iﬂ S4B Mob
(3) oBEo weoBch |HBabd: D6 QoD
(4) Hor Soverd® NO, walrde doves od mdor (DInsH :rgaﬁﬂan- udibdod
5. A scientist took 8 molecules of cytosolic aldolase into an enzyme reaction mixture 1o study
its activity. After ten minutes of enzyme reaction, 60% of its substrate was found converted
into 2400 molecules of products. Then what is the TON of aldolase and number of substrate
molecules left over in the reaction mixture 7
a¥ rHydd ISES Sairlodd edgdhdo dabardt 8 wmHo £o(S5gD
werdd JEBNS 585 Sovg BFdiod't B ayd. 58 Jadse ddhard
60% wgpdordo 2400 smpe adyoryoom Srdadoodd YSaftaryde. wownd
werdd J5ES WwE) TON H0d» ISES dog DFded 4D ad)
uﬁ%ﬁmga BoPO NoPg o7
(1} 15, 800 (2) 30, 1440
(3) 15, 1280 (4) 30, 960
6. If 9 ATP and 6§ NADPH are utilized for photosynthetic carbon assimilation through Calvin
eyele, what would be the ratio of Erythrose 4-phosphate, xylulose 5-phosphate and Ribulose
5-phosphate molecules formed as intermediates in regeneration phase of Calvin cycle 7
585 Swaho ovgor Edmadg DoTWrA|Bah 5UHS Tgofisdmss 9ATP, 6 NADPH
SR DI INWrhodedss, siin dodio PNGE)8 -F Lo Srdgdroom
2838 JBFD 4-3 D6, Bood'd 5-30)8 H0cin Fme'S 5108 empe
Fa38 Jod?
(1) 1:2:3 & 3:1:32
(3) 2:3:1 4 2:2:1
Rough Work
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The number of water molecules formed when ten electrons move from mitochondrial NADH
molecules through the components of clectron transport system 1o molecular oxygen is

D& o|8ciS NADH seoHe H008 38 Jogrynm Joggs e 5330 ey
o woo wijeih Sore dabedsdyds 26,1 A8 woaio Homg

(I} 3 (2) 20
3 10 4) 15
8, The amino acid binding site of tRNA is
(1) 5 end (2) Anticodon
ﬁ}i 3 end (4) DHU arm
IRNAS' w@s widzo wofsd D40
(1 5 8% (2) (2850380
(3) 3 F3 (4) DHU ard=oily
9, Two different plants associated with the discovery of two different phytohormones having
common hiosynthetic precursor exhibit one of the following character each
(I} Versatile anthers qﬂ} Compound spadix
(1IT) Pentalocular ovary (IV) Trifoliate compound leaves
o3 45 Sodhm Grdgmld ¥DAnD) ot PB) PEHE Sod L Hns
wowodo SONnG) Tods BNy SwEw iﬁdn;nﬂ w88 ofmo
() Do&ds BoWrad Soifreo () Hoddng I35,
(IlI) dodDoded woaidho (IV) (BS¥dind Hoding Do
The correct answer is
a8 DOThS marw
(1) M, av) (2" a, (m
(3) (), (V) (4) (1), (1)
Rough Work
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10. Find out the correct combination concerning the components of photosynthetic electron
transport, location in relation to thylakoid and action

(I) OQEC —  Lumen side —  Water reduction

AH) Plastocyanin — Lumen side — Electron transfer from cytochrome
f to PSI

{1I) Ferredoxin — Stroma side — Reduction of NAD' to NADH

(J¥) Cytochrome complex — Integral protein — Transfer electrons from Pl:[lH.‘t o PC

Edomaly DoT@rdldh Dowodd Jug s dorerd'd shibrol Posouboh
arwior aod Q';."m obdin od SdgH Dowodowi ROTLE Toddoipde hoodod

(I) OEC — arg®l 3 — 28 fabidmo

(1) FFodhas — orpdd B — W& 'S0 [ 5008 PSS JogaR
e

(1) S BarEyS - Hé&! 3% — NAD'S)NADHm §ohéde

{I‘h’}_‘::ﬁ"‘;hﬁ‘i mofdo — woddd |'8s — PQH, 508 PCE Jogsie dovee

The correct answer 15
28 S00h3 S'3oYy
(1) (I (IV) ,523 (I}, (IV) (3) (II), (L) (4) (I, (IIL)

I1. Study the following lists
& 1308 erbDeorodn udﬁgcﬁ-ﬁﬁu Scdiod

List-1 List-I1
(A) Colony hybridization (I' Transfer of recombinant DMNA into a host cell
(B) Gel electrophoresis (II) Selection of cells containing the desired gene
(C) Gradient centrifugation (IIT) Separation of DNA fragments
(D) Polymerase chain reaction (IV) Purification of DNA
(V) Gene cloning in thermocycler
Dol o1
(A) s0d 2OBHALS M S BoTras DNAD 08Fond' ubbd Sdius
(B) B Jof'sdehb (IN aroddah adbgps SONS fore Stmo
(C) pdmd iuLa'i':;':ndﬁr (IIl) DNA solerod 36 Ddind
(D) 0HdE dyopo ﬁﬁa (IV) DNAD %8 Jdiuos

V) &8 ;E}Eﬁﬁ orgor eiogEtool

The comrect match is
28 HO0THS 8oy

Ay (B) () (D)
() {am avy vy (an
2y {av)y (v) ((n ()
(3) () ({n ({Ivy (v)
(4) (I) (I n av)

Rough Work
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12. Study the following lists

& 300 erllorod wegaido Wahod

List-I List-11
(A) Transgenic potato (I) Resistant to Phytophthora
(B} Transgenic golden rice “Taipei” (II) Bruise resistant
(C) Transgenic tomato “Flavr Savr” (I} Resistant 1o insects
(D) Transgenic papaya (IV) Rich in vitamin—A
{¥) Resistant to ring spot virus
wLo- wDar-ll
(A) midog D03LE momrgdsod M Zobffo dEGES
(B) miop HOSOS A'YS 36 ‘B’ () Sroe) DE*sEs
(C) mdog D508 il 26 &sre® () So¥ D6's8s
(D) =dog 28588 & yow (V) abion-o sd%0

(V) Bok 36 365 DEses

The correct maich is
b HOTHLS S*8om

(A (B) (C) (D)
() (V) (V) (i) ()
(2 I av) (I (V)
(3) (I (Iv) an (m
(4) (I) (IvV) (lny ()

13. W.L. Johannsen conducted pure line sclection experiments on one of the bean varieties.
Which of the following characters are associated with this plant ?
(I) Cup shaped thalamus
(II) Odd sepal is anterior in position
(I} Actinomorphic flowers
(IV) Axile placentation
WL #5508 of 8% D 80 o8 DY Sod|¥ SSmo DTrmes 203 d. &1
[Eoldd* & Tl & HowoFo a3y vEmres DI?
() ATy S0 wsd Harjodo
(I 8% 855 8o Grogedod® sotood
() &rgdddnd Harye
(IV) ol unda‘gﬁn
The correct combination is
2l H0TLS HEdod
@) (), (m (2) (m, (Iv) (3) (D, (m (4) (Hm, (1v)

Rough Work
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14. Study the following lists

/\

€ (808 oo wdgahio Jokhod

List-1
{A) Penicillin
(B) Interferon
(C) Cytoplasmic polyhedrosis virus
(D) Protease

Dol
(A) RRREE
(B) moblhol
(C) P&'>%E >0 &'H5 365
(D) P*OTHE

The correct match is
ad HoTLS #doy

(A) (B) (© (D)
M wm av
(2) Iy avy o VN
@an o W av
(@) () (I (I ()

List-I1
(I} Glycoprotein
{Il}) Meal tenderizer
(IIl) Antibiotic
(IV) Leather softner
(V) Biopesticide
oIl
() nEEds
() Sroardy Sppthdge Job
(1) worg yddards Tado
(V) E‘ﬁaﬁ: Ddndddo
(V) sar2p>6

Rough Work
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15. Study the following and identify the wrong statement
AH" The probability of homozygous dwarf progeny formed in a cross involving TT = TT
parents is 2&r0
{2) The probability of homozygous dwarf progeny formed in a cross involving TT = Tt

parents is 0-75

{3} The probability of heterozygous tall progeny formed in a cross involving TT =
parents is 0-5

{4) The probability of homozygous tall progeny formed in a cross involving TT = TT
parents is one

G [BoladD wdgahiio d% 2050 aygpgss MbosSod

(1) TT = TT as¥ E.:}Earm ﬂ'?‘ﬂ bofdmod® :Jﬂ:]ﬁ :-’:n:&:uﬁ:}n'iu & vfmo
o Hodd :-'.'unr.r*ﬂ;ﬁ ‘a’:.'rs:r'l

(2) TT = Tt eadS¥ Ea:uﬁa,m é'ﬁ"ﬁ hoffmod® :Iﬁ:,ﬁ ﬁﬁacﬁmﬂaaﬁ ard! Jofe
modd ﬁﬂg}*.’:gﬁ 0-75

(3) TT == 3no PSd Dolduos® 208 InSediudye Sdy ofso
fo Hoda :’:uqr".&gﬁ 0-5

(4) TT =TT us8 InfHo GIJ Dofdmod® 208 dddind)a SdH Bnfo
Dodd Dogrdgd e85

16. When cells of a 15-celled filament of Spiragyra affinis participate in indirect lateral conjugation,
the maximum possible number of zygospores produced is

15 gemeo 005 030" Tior DA% dodopd®d foren B8'E I8 g Dodimiiyod
ﬂ-%ﬁ'uﬁ Hogomr :Jﬁ_‘}ﬂ woding hg!)uw Hopg Jod SEH dodSdyd

(n 7 (2) 15 (3 8 (4) 14

17. Which one of the following parts is different from others with reference to ploidy number
in Cyeas 7
(1) Perisperm (2) Nucellus (3) Seedcoat ) Endosperm
FERS B ﬁﬂ-ﬁ"g?gﬂ Bowodhbor & (208 grmred' I grdo add
ol D08 ?

(1) =8 15,]5‘:‘ (2) woarod: Emerovo
(3) bzgsso (4) wofHddydo
Rough Work
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18. The correct condition among the following with reference to sexual reproduction in Rhizopus

stolonifer is

(1) *+" = '+' = zygospore (2} '+ = =" = zygospore

"'«.L?_} O PR ZYROSpOre H:I_ Y o Y o Hﬂ' rygospore

%,
b

Bod o3S* BEDH Fodl Bony [BépS 82 VodS HOTHS e
(1) '+ x'+'=Loding bgﬁuu :}ﬁ:ld:danﬂ (2) 4+ x =" = Bodkod hg:bwu :rd:],dadmb

(3) = =%oding hg’ﬂtﬂ :Jﬁ:lﬁ:éauﬁ (4) ¥ xS =Toding hgﬂwﬁ ;}ﬁaﬁ-m

19.

Identify the correct pair of characters with reference to Preris

{I) Neck canal cell is uninucleated

9]} Stem grows vertically in the soil

(III} Apogamously produced sporophytes are haploids

_{IV) Open dichotomous venation in leaflets

B85 Dowodddom HOTHS oo adh Modod

(1) ¥odHergfmo 2f BoSEaudo

() srodo Hod' Daxfhm womdod

() Sowriba oirdgom 4838 wons gbaoe: J¥ 8w
(IV) 3| 85med® J5,8 sgrd 130 TR0

The correct answer is

=0 DOTLH mawo

(1) (@, (1) (2) (I, (IV) (3) (1), (1) (4) (HI), (IV)

Rough Work
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& B0l zDeoi u:ﬁgnﬁ-a:}:r Sdbod

20. Stwudy the following lists

List-1 List-11
(A) Corynebacierium glutamicum (I} Flexibility in shape
(B) Halobacrerium (I Mineralization
(C) Cristispira (IlI) Lysine
(D) Baclilus mycoides (IV) Gas vacuoles

(V) Parasite on bacteria

Dol arDo-l
(A) Foderibchd HerdEs (1) wsgod® Hgd
(B) &&torfochSs (M padsde
(C) BRIy (ony o
(D) eBHobd Dsondd (IV) arcinbises

(V) erlbabloe 8 Bobydd

The correct match is
al HoThs £'30y

(A) (B (€ (D)
(1 avy (I i (V)
@ vy (np (@ av)
Ham O @
4 (m av) @ an

Rough Work
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21. Which of the following requires lysozyme for Ivtic cycle of viruses 7

(1) Adsorption phase {(2) Eclipse phase

(3} Penetration phase (4) Latent phase

& |EobarRe' Fdheo BEE Sifod' TFBS: wiDdo BhE dood?
(1) wofhe &4 2) |[fore &4

(3) (@ddo &4 (4) fhn &4

22. Study the following lists
& \Bod wDerody wdgiado Hahod

List-1 List-11
(A) Agar-Agar (I} Saccharomyces
(B) Biofertilizers (I) Basidiomycotina
(C) Mushrooms (I} Red algae
(D) B-Vitamins (IV) Blue green algae
(V) Vibrio
Dol aDo-ll
(A) =5y A8 M TefDHhH5
(B) €35 JhPHw (I BHETrBE T
(C) Do Fdorben (1) oo Adorw
(D) D-DboHen (IV) 99 eHddy Ao
(V) oboir

The correct maich is
al HaEHS €80y

(Ay (B (€ (D)
(1) (my @) an @
2y (vy ( av) (D
(3) an am vy 1V)
@ (avy (n un  (v)

Rough Work



23. Stwudy the following lists

& (508 wrdevod wdguhido Jakod

List-1 List-11
(A) Food storing condensed branches () Oxalis
develop in the axils of bracts on the
inflorescence
(B) A group of bulbils arises from the ground (1) Bulbophylium
level at the apex of tuberous root
(C) Bulbils develop from the axils of leaves (Ill) Agave americana

(D} One or more internodes of the sterm stores (IV) Dioscorea bulbifera
food and water and becomes tuberous

(V) Cocaloba
Dol erdor-I1
(A) BRDegdo LY NE AT haorost () wsmaS

wii'od) Dog TH doftrd T
uﬂﬁ;,.g dodoeron

(B) &od I o erfiod® do s () eshdes
s oobow dofm I8 deron

(C) o obro 8 hored’ eDi)s Jodheron () oS eDos

(D) soddH i Bor wT¥ Sl Sdgirs (V) daird® ddir ol pd
ws Sorgroin, MUY Dogdh doborm (V) 55
adirdieon

The correct match is
ad HOTLE fdody

(A) (B) (C) (D)
(@ an vy
g (m av) @
(3 VM M @ av
(4) (i (@M avy

Rough Work
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24. ldentify the correct pair of plants with odd number of leaflets in a compound leafl

(1) Aegle marmelos, Hardwickia (2) Hardwickia, Gynandropsis

(3) Marsilea, Gynandropsis (4) Citrus, Aegle marmelos

soding B|dod’ Th Dowglle JEso gDRS) Twkpo DOTHH wé hodold
(1) eAd SrEerd, HEIidlr (2) FEIEair AasSao)e

(3) &rbydair, AaSar)s @) B@s A Srides

25.

Identify the correct combination of characters found in Solanum

(1) Scorpioid cyme, longitudinal dehiscence of anther, adnation of peduncle with internode

(2) Solitary axillary flower, berry fruit, bicollateral vascular bundles in stem

(3) Scorpioid cyme, porous dehiscence of anther, calyx remain attached to the fruit

(4) Solitary terminal flower, porous dehiscence of anther, adnation of petiole with the stem

Foviidod: $D o DOTHE ofeo H¥DoRyds Hbodod

(1) SyEyesd Do, Hovis's JevHFHedo. PA) IFgd Syodo Yesdy Sggioos’
wiudo 380

(@) sod (AS% Bayo, Spdpeo, sodod® Bghirdrd)g o0 Poures

(3) HyEyesERD, o' o Fysde, 5E8 HEe soof riydor wol s
doddo

(4) Jsod BpddH Phyo Sorii8HH So|@ & yede, S8 080 sodod wihdo ssddo

Which of the following statement is mot related to Delichos 7

(I} Monocarpellary gynoecium, unilocular ovary, Non-endospermic seeds, marginal

' placentation

(2) The fruit wall dehisces dorsiventrally into two halves liberating the seeds

(3) Out of ten stamens in a flower, the filaments of nine stamens are fused to form one
bundle and the tenth one remains free as a second bundle

{(4) Stem is weak and climbs over the support with the help of tendrils

S DESS Bowobod & (Bedardd’ WS SRR 87

(1) 28 $edd eods'do, wE Do wogrdcho, sofhddns gurd o,
adrod wodagho

(2) Sofsde dyfsdderg’ DAO Dods grmrenm D&4&fon DdTed ddde o

(3) Bajesd »6 Isoes' Fis Fhoeo IS doore wodsng B o8
oDy, DEySdm DD 4565 $580 D4m Bed Pomomr dobwod

@) sodo molrSom aod, HO o vitchod egde BE JMurHsoed

Rough Work
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Identify the correct sequence of plants in the order of characters given below :

{a) Owules borne along the ventral suture of unilocular ovary

(b} Owvules develop all around the inner surface of the septa in a multilocular ovary

(c) Owules borne on the inner walls of ovary or on the intrusions of the wall that form
incomplete partitions or false sepla within the ovary

[I;:l Abrus, Dianthus, Cucurbita

ii} Helianthus, Brassica, Cucurbita

(3) Abrus, Nymphaea, Brassica

(4) Thespesia. Nymphaea, Brassica

&4 800 2@ vioed wE S0% Lﬂ'ﬁrtj" Srbod E:.:E&EIS‘ fgodod :

(a) 2f Dodind sooridh 8856 wodhod® wooro uid dotron

(b) wdoDodnd vomrichod® somre dure &'H0 doroDd vodr el dotron

(c) wogres sogrddho S'90 fdol md Bo woordch Hdgod'd duthéw
2838 d whodrd wdifdo Yo woorddho e 280 wid)d Ddgo
Q8 yderon

(1) oo daregs, HHO)er

(2) S OdirodS, (erbs, HHE)4r

(3) es@s. Jopdr, Erhs

4) Bhyvair, Jodair, @Erbs

Identify the correct statement
(1) Ina bisexual flower of Scrophularia, the androecium matures earlier than the gynoecium

(2} Tetrasporic type of embryo sac is found in Peperomia

(3) The cross pollination in Kigelia pinnata takes place with the help of snails

(47 Stamens are attached 1o petals in Grevillea

=0T a'apsm f0odod

(1) #‘}ﬁjgﬁﬁw BeDofld Hhyod® wodfio o) AP Smodor Ssgll
awod

(2) Sdnhg ba Gl Lods'io S50 BHEdls® ENDR08

(3) BL0dr D s Sdo Ditabod® HESo Dodde adibdicd

(4) (ADOoirs" Ehow, uide Deed Doduidpeon

Rough Work
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29, A student observed four plants (A, B, C, D). The number of stamens in a flower of "A’ is
equal to those of a flower of ‘B". Out of the ten stamens arranged in two bundles in a flower
of *C", the stamen number in the bundle which possesses most of the stamens is three times
to that of inner whorl of a flower of *A’. In ‘D’, the number of stamens is equal 1o those
present in the inner whorl of plant ‘B’. Identify A, B, C and D plants respectively.

(1} Allium, Brassica, Tephrosia, Octmum

(2) Brassica. Tephrosia, Allium, Ocimum

(3} Tephrosia, Allium, Ocimum, Brassica

(4) Tephrosia, Ocimum, Brassica, Allium

o4 Dorgd areoily Bwyod (A,B,C,D) dddoords. ‘A'd Dol Phajyed'd Thoe
Howg ‘B’ Bwfy Hhjod'd Thoo Dogyd Dirdom aok. 'C'er BosS Pajyed'
58 $horos 408, Do Powreasm I dm, LS I S Thorwod Pomod'd
b0 Hopy ‘A’ Todd Paje 00 Sodhod'd Bhoo dopgs Surds T
iy S aob. D’ Tnky P jos $hove Dowg ‘B'e*D fphyo 6*H0 Sedbo Show
bopgd' BirHom aotod. A,B,C&0dnD Body ol Sdbm dioded.

(1) edabl, Eris, J@hdr ebid

(2) (s T@rudr, «fdbd, whid

(3) @ udr, edabd, edSS, oS

4) JFadr, eddod, s wrdaioSo

30. Which of the following character is mof associated in a plant having a single cotyledon in
a seed, tendrillar stipules and adventitious root system ?
(1} Unisexual flowers in umbel inflorescence
(2) Bisexual flowers with homochlamydeous perianth
(3) Trimerous flowers with odd tepal of outer whorl is anterior in position
(4) Reticulate venation in leaves.
DéBos® o8 baddo, 5D Sdeom Sr8)Bosd HEPT o ddn wwiy
B Sg55d S0AS Tnf) O Hovododwdd vfno & (208 T8S J87
(1) dadye ay Dirghod® 2500AE Piryw
(2) HHBondaled SeDonl Paryo
() [Beriicind Hrjos' Jedd Sodhos'd B BoSEe PAYIE Yrogosos’
godbo
(4) SEorod wosd e Fgbio

Rough Work
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31. ldentify the wrong answer

(1) Calyciflorae - Cup shaped thalamus = — 5 cohorts
(2} Monochlamydae - Perianth — % cohorts
T Heleromerae - More than two carpels — 3 cohorts
(4) Bicarpellatae - Epipetalous stamens — 4 cohorts
P05 mavwois Mfodod
(1) 20%g'0 - A3 508 wsd Hdryddo — 5888
(2) 3r3gna —  DaPSo — 88 fw
(3) wastio _ Bod S0l 255 Sudves — 3 o
4 Zsoyde — HHesesohd dhow — 4858w
32. What are the chromosome numbers in the following respectively ?
(I} Synergid cell in Gossypium
(1) Leaf cell in ANium
(L) Primary endosperm nucleus in Saccharum
& (Bod DES) TOS) B'ErdSio bopgods SHBES0S® Bobad?
() mhhdid H5dh Yoo
() »8dh5s* Ssfmo
() Fgr8Ses® | D@y w0533y So|S%o
(1) 48, 96, 24 (2) 48, 16, 36 (3) 26,16,120  (4) 52, 26, 32
33. Identify the correct pair of statemenis from the following
(D) _!'r'luvcme_;}l of cytoplasm around vacuoles in clockwise and anticlockwise manner oceurs
in Hydrilla
(11) Hu-tgfprycnusis refers to the property of differential stainability of chromatin
(I} Dissolution of synaptoncmal complex occurs in diplotene of Meiosis—I
(IV) Either clockwise or anticlockwise movement of cytoplasm around the vacuole occurs
in Rheo discolor
G |Bolard Siod DOELE =d STrgegeds Mlodod
) Zri@ed fogsgo b¥e gy Big Sibdln ebHSy OIS SGMEr sotuod
() (F3r855 D5) bdod® 20D eDlord iy ¢gompdy U RE LE vord
(D) Qocir®R-16°0 8F 45" Dardnsed So8g Dogmo KON S0 adhihdod
(IV) 0@ A% 08 So|dsgo BRY Wty DS Gor woBde B BlNEr dokuol
The correct answer is
[l POThd mawo
(ry (I) (V) G{} (1), (1) (3) (), (IV) (4) (11}, (1)
Rough Work

16 R



/D\

34. A DNA double helix is 340 nm long. The number of nucleotides in this DNA is

¥ DNA Swod 05y 340 nm S5 sold. & DNAS*D SrgitrBle Sogg

(1) 20 {2y 2000
(3 200 (4) 1000
35, Assertion (A) : Presence of xylem vesscls is a primitive character.
Reason (R) :  Xylem vessels are present in some Pieridophytes like Selaginella.

16.

The correct one is

(1) Both (A) and (R) are true and (R) is the correct explanation of {A)
(2) (A) is false but (R) is true

3 Both (A) and (R} are true but (R) is not the correct explanation of (A)
{4} (A) is true but (R) is false

RAjdo (A) . orfamrvren dcdto wdd ofmo.
dmo (R) : TRor23ge Sod £y BoF o’ orharvres aotrow.
ad ﬁﬁﬁhﬁﬂ

(1} (A) So0csn (R) Bodr HOTHSD, (A)H (R) HOTH DS56m

(2) (A) DOTRELH 57 W (R) 2050358

(3) (A) 5:8c5x (R) Dodr 20TH3D 52 (A)% (R) 20Thd Dibe &
(4) (A) 20TSE 50 (R) DOTHIHL 576

Which of the following is correct 7

(1) Stomata are more in the leafl abaxial surface of dicotyledons
(2) Xylem is present towards the abaxial side in isobilateral leal
ller} Motor cells are found in dorsiventral leaves

(4) lLysigenous cavities contain water in Ciirus.

& |BoBardd JB HETRILT

(1) Bgdwbe |8 sdrgsood” Bdolgre Rowy JE533
(2) % grU 3 Hdodt ordap adridoo I dokood
(3) Brerb Sores D)PES dlerod' £ 0w

(4) BPHS'D ocherd Hirore VED SO0 soron

Rough Work
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& (208 zrDerod: efpobido Ddbold

37. Study the following lists

List-1 List-11
(A) Eupatorium (I) Soft fibres
(B) Helianrhus {II) Lacunar collenchyma
(C) Leucas (IIT) Hair like stone cells
(D) Cannabis (IV) Angular collenchyma

(V) Lamellar collenchyma

aDe-l e~Do~-11
(A) cioDE8aHS) M Soydoardes
(B) TrDdirodh () sdsddiod éruﬂ"‘n Smerwo
(C) :u.'r-;s*!': (I &*5rsed Syfsare
(D) gav05 (V) 'da prot's ¥saroo

(V) debrioah prof'e Smeroc

The correct match is
a8 HOTHS 8oy

Ay @B (© (D)
™ (V) . (av) (m
2}y (V) (V) @ (m
(3 (O (an oy av)
(4) (V) (IV) () (@)

Rough Work
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38. Study the following lists
& |08 erdorod vggahido Hahod
List-1
(A) Casuarina
(B) Calotropis
(C) Agave
(D) Ziziphus

aDa-l
(A) s B
(B) &8 erns
(C) »his
(D) 22$5

The correct maich is
ad HoThE 8o

Ay (B (€ (D)
man @y v o
@m o @
@ an @ @ o
Twov) am @ (v

List-11
[‘Il] Spiny stipules
:{m Stem succulent
(IIT) Sorosis
(IV) Adhesion of stamens
(V) Spiny leaf apex
arDor-11
() ZobSom Sr0d D(E Py
(1) &H¢od smodo o Ty
(I} &6 %5
(IV) wHomd Show

(V) HSobformr b3 Eq_ﬁ%«gc}

Rough Work
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39, Study the following lists

D\

é (Bob erDerod sgzabio Jabod

List-1
(A) Bryophyllum
(B) Nelumbo
(C) Pistia

(D) Potamogelon

Lol
(A) pErbes
(B) Doos*
(€) Bhoir

(D) SoIresrn

The correct match 15

b HoEhd d'dody

(A) (B)
(@ (V)
_d{ (1) (V)
(3) (I (avy

(4) (V) (b

(C)
(1D
(V)
(1

(1)

(D)
(1
(n

(V)
(V)

List-I1
{I} Cuticle is absent
{ll} High rate of transpiration
(111) Water is stored in the form of mucilage
(I¥} Rhizome stem
(V) Balancing roots have root pockets in place

of root caps
arDo1l
() wdgrhd dodd
(I wayd)8 Sdo whSor dotod
(1) D% Srghdd Erdod® Jud Adhadhiod
(IV) 5"d»; sodo

(V) Hodwdo abh F¢)d T Fhibed
oo Jd ado Gotron

Rough Work
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& (800 wrdevd wgabio Yakod

40. Study the following lists

List-1 List-11
(A) Morgan (I} Induced mutations
(B) Lysenko (II) Photoperiodism
(C) Muller (111) Term *Genetics'
(D) Garner and Allard (IV) Vernalization

(V) Linkage

ero-l Dol
(A) 2GR M (208 ad 0383w
(B) Z%of () su8 =S50
(C) Haogh () "BLEY eF ddo
(D} m3y6 Dobdin werh (IV) 3¢y BEAS

(V) Bdrof)s

The comrect maich is
Al H0THI oYy

Ay (B) (©) (D)
Wy an o avy (0
-{2} (I @ (m  av
@M o M
(4) (V) {am an )

Rough Work
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ZOOLOGY

Identify the set of collecting and distributing blood vessels in Pheretima
(1) Ring vesscls and Anterior loops
(2) Latero oesophageal blood vessel and subneural blood vessel
(3) Dorsal Blood vessel and ventral blood vessel
4] Dorsal blood vessel and commissural blood vessels
PO8SrS 88 Sobd péomir, 8 H¥dn sdomrds BAU s & B0l v
ud b Mboddw
(1) dodb avo Sodddwo @-65 Es*gm
(2) ﬂ'a';si.‘f'ﬁ aars dfavo Sobaiw w4 dEfavo
(3) Sp3 dEardo So0cin add dEvdo
(4) SyadEardo J0dn Dograhad v

e

42,

The following are the parts of alimentary canal of Cockroach and arrange them in correct

sequence (Anterior end to posterior end)

(A) Stomodaeal Valve (B) Crop

(C) leum (D) Proventriculus
(E) Mesenteron (F} Colon

6 BH5 adindd STQof W) oty TEY Prmod HOTRS SdRHESSE*
(Grogodo Sod Sorodo 0% Brdoddw

(A) ededne fordo (B) u;rlrl‘-:iiac-

(C) daroid4o (D) wodd mddo

(E) Sogrgo|go F) =g

1" B=-»D+A—->C—=E—=>F ™ D—o+B—2>E—2>A->C-=>F

) BaDa3sASE-C—F 4y D-B—a+A>C3F—=2E
43. The cells that have CDg Markers on the Cell Membrane are

(/f} T Helper cells {2) B-Lymphocytes

(3) T cytotoxic cells (4) Matural Killer cells

Ymdgddn CD, $r8, 835, Yarod Jderdh

(1) Tore)f Sore (2) B-Dodro&e

(3) TS e 2f foren (4) HEe odf fore
Rough Work
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44, This structural gene synthesizes the mRNA that translates the permease protein

(1) Z-gene (2} Y-gene
(3) A-gene (4) P -gene

Bodard © emdagy woEhd FdiG £33 mRNAS esdpido oge
ﬁoihnm:&a

(1) Z-udgd (2) Y-mdogd
(3) A-mSogd @) PP-adgh

46,

The selection in a Population subject to rapidly changing environments with highly fluctuating
food sources is called

(1) Disruptive selection (2) Stabilizing selection

(3) r-selection (4) K-selection

Sdorr Srdidody S0LoreB i whE Blordidied ?Eﬁ"'ﬁ iy S5Heh eStheom
n¥ mayd 207 Sdmod Qdoerds

(1) 2038 Sdmo (2) Tgﬁﬁtl'w S8mo

(3) r-ddmo (4) K-3&mo R
g8

Identify the correct statement with reference to ‘arbor vitae® in the brain of Rabbit
(1).-Deep grooves and wrinkles of cerebral hemispheres

{2) Rounded elevation presenmt behind infundibulum

{3) PBranching of white matter in cerebellum
{(4) Thick nerve tracts that link the cerebral hemisphere and medulla oblongata

Sodw Hodd Tl HE‘JE Ew‘.‘-!! monofods JuBdS Jgpg J8
(1) &‘ﬂé‘&,ﬁ'ﬁ‘wu G Bimdoes S:8dn duddos

(2) sreroDEE: 358 acd o8 adyd; E}cr'amn‘m-

(3) wiodinhy sy Sy ‘bﬂ'gﬁn rhdomr aodd

(4) ﬁ:!_:_ﬂ-&gﬁ‘wum &?ﬁnpnﬁ' 500 SoodBod od (B8

Rough Work
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47. The hormone that increases the rate of Ca™ absorption from the gastrointestinal tract into

the blood is
(1) Calcitonin {2} Calcitriol
43) Cholecystokinin (4) Aldosterone

zdoro|d Srdo Sood Ca''d §58nd*DE Famo Todard) edso Jaln #4645 Jo
(1) 58805 (2) sByoTrS
(3) §'OBFEDS 4) wd*hos

48,

Identify the Facultative parasite from the below given

(1) Trichomonas hominis {2) Enterobius vermicularis

(3) Taenia solium ﬁ‘f Mycobacterium tuberculosis
Bodaad® DEOHE Sovdy 40D MBoddn

(1) ByE*Brad 785 (2) Qod8'Dehb S0 80005

(3) dogsr F0css (4) Bofferfodid: togady s hh

49,

In Pheretima removal of these ganglia results in the loss of Motor Control

)} Supra—Oesophageal ganglia (2) Sub—Pharyngeal ganglia

{3) Supra—Pharyngeal ganglia (4) Sub—Oesophageal panglia

POLEr Se0d & 7l Bodbods Fonh ool Jobojdn S'efyido admdicn
(1) worgstd s >4 Sodes (2) e§'0nR >4 Sodhe

(3) wdAsR 74 Bodhw (4) »& e s >d Dodies

Rough Work
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50. Study the following and choose the comrect one

List-I List-11 List-111
{Animal) {(Character) (Class)
1. Sea Urchin Aristotle's Lantern Echinoidea
II. Sea Cucumber Respiratory trecs Holothuroidea
MI. Sea biscuil Anus is absent Asteroidea
IV. Sea Stars Pedicillaria with two jaws Ophiuroidea
Bolaad sggdivic dh 20T o) JoviRiaw
D1 wge- sgs-1
(£2) (vEmo) (Rgriio)
. % w033 wdPdS oodd i arond air
Il H@nd &nsdb en SyF e st doorond dr
m. % 058 Jrodud oo wHorondair
. % Sa;:u 8L odiresH Bodd P alworond alr
dSdeosotron
(1) (1) & (V) @ & () Me@) A )&
51. Match the following with reference to Poultry breeds
List-I List-11
{A) American class (I} Ancona
{B) Asiatic class (I} Plymouth Rock
(C} English class (III} Brahma
(D) Mediterrancan class (IV) Australorp
(V) Vencobb
é (fon §'¢) (Do wdddndiidx
Sge-1 Sgg-11
(A) w2885 Sd48 0 ss8t=
(B) ohards 4548 () 258 ok
(C) mofia S48 (IT) |erSo
(D) Saggdor|Prod S048 (IV) ep9e~53
(V) Bosd
The correct match is
28 PDODLN EdoP
Ay By (© (D)
(1 (I m  avy (@
() vy (avy (np (@
(3 (U (o (IV)
(4 (I (V) (I (V)
Rough Work
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Which one of the following statements is true about ‘Diapedesis’ 7

(1) It is a wide gap on the jaw bone between incisors and premolars

{2) A shaft of long bone present between two expanded ends

(3) Penetration of leucocytes from blood capillaries into connective tissue

“td). Fall in the level of Albumin of the blood plasma resulting accumulation of fluid in tissue
Eoladd® ‘FairnadNh’dH HovododsS DOTH Tgeg 87

(1) 858 J80% Lodsred w|if digesren Sdife b BEAS

(2) rdard JB0ES" Tods DH00DS woerge iy 5°d [ Frodsn

(3) orgfindes 4080 B08 HoTWral fmaredd Tt e

4) o8 Q'ﬂ'lﬁ‘ s eyl gron dfdo ol fowrerd' g0 It

53. The connective tissue that helps in the maintenance of body temperature in New Bom is
(1) Areolar tissue Dense regular tissue
(3) White Adipose tissue {4) Brown Adipose tissue
sHpd HUS bod® dir afdsh m>Et el 35 d HoTral Snerody
(1) 20TWrerd Eoerods (2) Frobdh fSodnd foerodn
(3) iy LTS foerodn (4) F'gads 3¢ 248 Lnwrosdn
S54. Anematic flagellum is found in g
(1) Urceolus (2) Peranema (&) Cryptomonas (4) Polytoma
SSrOE Earydy HOAEDNSY £
(1) w8 yssral (2) Dodhsr (3) EBrsS  (4) >0&tE
55. The hexacanth of Taenia reaches the heart of the pig through this vein
(1} Precaval vein (2) Post-caval vein (3) Hepatic vein  (4) Renal vein
dolr Tul) Qbjobl Dot MoBd 6 B ago Tl
(1) &rdyg Sudvhy (2} 283 Soitnd (3) sdab Bd (4) B8 B8
36. Hemimetabolus insect which is noctumal and sanguivorous is
(1) Anopheles (2) Apis (3 Musca (4) Cimex
e @od0 Sodain dirdo RE00E Tl BerSel dsdo
(1) warBdh (2) I%hH (3) Sody (4) _"'_:-:B:EJ
Rough Work
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57. What type of practice is applied for culture of ‘cat fish" 7

(1} Monoculture {2) Semi-intensive method
(3} Polyculture {(4) Inteprated culture
‘45 DR pobfindh J3nFT bga ?

(1} 28 &8 Doddde (2) L o dga
(3) wovoer8 ;"méﬂ'.‘-‘-ﬁﬂ (4) Ho|fid ﬁﬂag;ﬁn

58. Idenmtify two correct statements from the following
(A) Rennin is industrially produced by Mucor pusilus
(B) Streptokinase is industrially produced by Pseudomonas putida
“{€)- Alkaline serene protease is produced by Bacillus licheniformis
(D) DNA polymerase is produced by Trichoderma reesi
Bodardd Tods HOThHE Tgeged Miopso
(A) BAZ Fordfor Surgsl Hhod ogo Sdr&hdn
(B) RpadEdLfs oprddor Hr&3rah pdo Soob SarE D s
(C) wop B85 68 |Fachds rhgh BRIPF5 Sod ScirfHidard
(D) DNA Bs0dds BaE'ady 6% oD ady8 Ind
(1) (A) & (B) (2) (©) & (D)
(3) (B) & (C) 4y (A) & (C)

sz

§9. Pick the wrong statement from the following with reference to evelution
(1) The existence of deleterious genes within the population is called genetic load
(2) Any deviation duc to chance variations is called Sewall Wright effect
(3) Recombination of genctic material occurs during mitotis
{4) Mutations occur al random
A0 ddnsH Hovohodd Bod Tgpged” DO Tgegi MGodde
(1) mogd® H#O58Rd udgho doderd) vl erdo wotrd
(2) wRakd)y Dodd Jdggode 53y srdyed wod S (Berdo wotrd
(3) &&: Dfms Hiughos mdag :':n'gn HSho@redo Doddiod
(4) a8 08T ¥ vf go 00 “p:‘gd‘}rr adfiorown

Rough Work
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6. Which one of the parasites is responsible for causing gigantism in its intermediate host ?

(b Fasciola hepatica (2) Plasmodium Vivax

(3) Sacculina (4) Ascaris lumbricoides

Bobarid® D Bovdy £D 45 Srdznt wdfond® elsahbd®h sEmdakbds 7
(1) uTre rds (2) ¥ dcho Tarky

(3) e 0 (4) =300 woDsond’

61. Which of the following applies to “Bohr effect™ ?
(1) Partial pressure of O, in systemic arleries
~{2)- Effect of CO, and H' on the oxygen affinity of Haemoglobin
(3) Exchange of chloride and bicarbonate ions between RBC and plasma
(4) Partial pressure of O, in Pulmonary veins
Bodards® 28 "S'E I 9L esesbosiNe?
(1) B $50%08'D 0, 8¢ bdso
(2) ©8)a3-Irf'0io elwodo CO,, H' o [Bardde
(3) 98 dEgmren, Py Sgg §° B8 Sibcin BeEyde D3bo
1) HYn Blost 0,88 baso

= e

62. Tendon like cords extending between atrioventricular valves and papillary muscles in the
heart of Rabbit are

(1) Columnae comneac ,{2{ Bundle of His
(3) Chordac tendinac {4) Purkinje fibres

HoBen MoBS* 95-ud0s favtro Si00 >Veb Lodores FgRodd Boars
Sod dodfHon 0

(1) sy 9y (2) wodd wf
(3) mdndepHes (@) Woyod SodsPes
Rough Work
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63. Match the following
& Bolaran md Erdnde

List-1 List-11
(A) Mastoid process (I} Prenaxilla
(B) Acromion process (I Axis
(C) Olecranon process (I11) Scapula
(D) Odontoid process (IV) Ulna
(V) Periotic bone
Sas-1 SEE-I
(A) Srgrond 4040 M =olsgrdte
(B) w|5*ochi 8080 (Il wdoc
(C) eBz55 8040 () soddolo
(D) eorobrond 4Dd0 (V) w8
(V) ﬁus‘?%

The correct match is
@b H0EhS Sfdoy

Ay (B) (© (D)
(V) a  avy @
(2) (IV) (V) (I (1)
(3) (V) (m (av) (n
(4) (V) an @ V)

{1y Mid brain
(3) Hypothalamus

64. In the brain of Rabbit, Aqueduct of sylvius is located in

(2} Diencephalon
(4) Cercbellum

Hode Do hﬂﬂdﬂ::ﬁ a¥o ad:l,t: aodadba

(1) 5:#3 b
(3) r&Fgredd

(2) Eﬂ"sﬁﬁ"iﬁn
(4) eHshhse

Rough Work
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65. One of the following shows arrhenotoky in its development

(1) Bonellia viridis (2F Fumea

(3) Apis mellifera (4) Drosophila melanogaster
Bod o8 EO uﬂd;gﬁ‘ oIS shbosid

(1) docsr 2085 (2) Hrgdoais

(3) O%5 DHo (4) @¥%e Brodfmisb

66. ldentify the set of hormones that are not antagonistic in function
(1) Insulin — Glucagon
(2) Melanocyte Stimulating Hormone (MSH) — Melatonin
_{(3 Adrenalin — Noradrenalin
(4) Calcitonin — Parathormone
BoaaRé* 2 Bods :ﬂ"ﬁ‘lmu ud D80y asa'ﬁs ﬁ;ﬁr‘iﬁrué‘ (Antagonistic) D) DabP)

(1) 232305 - ArEmS (2) oS8 H3ugBdofl 365 - oS
(MSH)
(3) Ja585 - aEEI05 (4) 503825 - ﬂ-u-qrﬂ’aﬁ

67. Thermoreceptor sensillae of Cockroach are located on
(1) Antenna, Maxillary and labial palps (2) Tarsus of leg
(3) Labrum, Maxillac and labium ,{i} Anal cerci and anal styles
FTBodd® a4 | oo I8 28 dotron
(1) :-"a-:,d; -!';jnn-m, mobs Jobdin add ::'d;. -I';.nrrm
(2) sentrd B Dads
(3) i.".g.u-. moflfen Soboin wdddn
(4) ardudromer S:0din drdin drsees

68. The “P" wave in an ECG indicates

(1) Repolarization of the ventricles (2) Atrial Depolarization
(3) Absolute Refractory period (4) Rapid ventricular Depolarization
ECG&* P-d8odo &2D Hrdovhd
(1) =808 Hudhamo (2) £9f Jghdmo
DDy L‘&'ﬁiﬁ'#ﬁ sTodn {4) 3-‘&'&‘:::6".‘_5;2-5 ugos I fdmo
Rough Work



69. Maich the following

—4) (IV) () (V)

{A) Bergmann's rule
(B) Gloger's rule
{(C) Allen's Rule
(D) Jordan's Rule

Bod Tiw mdé Donhdw
(A) BESS Bro

(B} ﬁ‘wﬁ ardo

(C) w8n wrso

(D) £'g"% Hrgo

The cormect match 15
a8 HOTHS doPy

(A) (B) (€ (D)
(M av) @ (V) [
(2) (ny vy (@ (V)
(3) (Iv) (I (vVy (I

/D\

(1) Pigmentation of skin

(I} Melabolic rate

(I} Number of vertebrae of codfish
(IV) Body size (Mammals)

(V) Size of extremitics of Body parts

() S&5m S8

() £58cke o

() =8 B2 Idoydree Howy
(IV) B85 H0d5rmo (Edow)

(V) 4046 wodg grmo D0Srmo

70. The secretions of these accessory glands in urethra of male Rabbit neutralizes the urinary

7.

residuc and vaginal acidity

(1) Cowper's glands
Perineal glands

{2) Rectal glands
(4) Prostate glands
'ﬁ;ﬁaa HoBen wowod Lﬁnn‘ﬁauﬁ‘ & Hode |Frores |2 RE0S'D Sor|d ﬂiiﬂ-:}l

Sabdin WrAG'D wiergl) dohE0on

(1) 828 Hodiew
(3) Swregrd (fodio

(2) Hdasvd (o
(4) &roa |fodoen

The ciliate which has peristomial cilia is
(1) Vorticella (2) Ephelota
(3) Paramecium .{iﬁ Acinela
Bodwp (Froddns' ADLwr FOAMENS) @reteta HoThS 28
(1) &§e (2) dndte
(3) dsohdhd (4) e
Rough Work

I1 R



/D\

72. The class of Mollusca with closed type of Blood vascular system is

{1} Pelecypoda £2Y C.ephalnpu-da (3) Scaphopoda  (4) Gastropoda
nobyd 508 TWolhd SE @Rde 535:'3;5: 507 4ol o), Jgifio
(1) wd%dra (2) BpS>a (3) P> 1) T

73. Choose a pair of statements which are true about Gymnophiona
(A) Skin contains minute dermal scales
(B) Teeth are absent on both jaws
{C) Veriebrag are numerous and amphicoelous
(D} Fertilization is external
23rpdra dpedh Sowofodd ul ud BOTHI gpgods JodEFlde
(A) ﬁd;uﬁ' D5y woddyd; Paertomotron
(B) Tods didde od dose ao0dd)
(C) gildozren I35 Dopgs® Affchil 8508 Jold dobron
(D) ey Sobdn udbis
(1) A&C (2) B&C (3) A&B () B&D

74. The structures furcula, urostyle, endostyle are present respectively in

(1) Pavo, Proteus, Pyrosoma (2} Pavo, Rhacophorus, Branchiostoma

(3) Apteryx, Rana, Ascidia [ﬁ{ Casuaris, Gegenophis, Amphioxus

Py, Tododo. Jo& P SHBm & £Hod asotron

(1) &, PQaih, &S (2) &5, B PE5, wrol@rPss

(3) 2ROEy, oo, 2hdasr (4) seeardB, AASSE, wobalryh
Rough Work
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75. Maich the following

{A) Nitrosomonas (I} Denitrifying bacleria
(B) Nitrobacter (lI} Soil bacteria

(C) Pscudomonas (III) Mitrate bacteria

(D) Azotobacler (IV) Nitrite bacteria
|Bofaad mdbirdidn

(A) Bs'Farss () 25886 erfocir
(B) Euﬁ-’"u‘g‘ﬁ (I Fes* ﬂ*%ﬁcﬁr
(C) Brd&drah (m 3B erfocir
(D) wu& oyl (IV) BBs& u'éﬂdi.r-

The correct match is
2l HOThE FdoYy

Ay @ (€ (@@
(I (n oy @ aIv)
2y avy am @O )
(3 avy @) am (@
@ m ((n  (Iv) (I

:I.i-. Corvus splendens insolens is the subspecies of crow found in

(1) Sri Lanka (2) Myanmar

(3) Pakistan (4) India

ol 13 _':-:Iaﬂaﬁ;} aB V5 i aberd o JE 4 0%0SRe
(1) dool 2) Ssciray8

(3) &8>S5 (4) =oddir

77. Pacdomorphosis is seen in

(1) Branchiostoma (2) Oikopleura

(3) Balanoglossus (4) Salpa

FuEirHEd & 208 whbodie

(1) prof@rd's (2) wons'yro

(3) Bes ﬁ"{:r':.‘: (4) aromy
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78. Statemcnt (S) : [In Rabbit, caccum of large intestine is important for cellulose digestio
Reason (R) Large intestine secretes an enzyme known as cellulase to digest cellulo:
in rabbit.
(1) Both (5) and (R) are correct, and (R} is the correct explanation to (S)
{2) (S) is not correct but (R) is correct
+{3) Both (S) and (R) are correct, and (R) is not the correct explanation to (5)
(4) (S) is correct but (R) is not correct
Fgeg (5) HoBeods "'..:mgﬁ‘i 25 ot ol Ty Thos), sofar o SupeRso
one(R) : £:o0W oo g o Jwed (Plodnds :nmaﬂﬁ' wd JoBS:
RegstEso ddo dinod.
(1) (S)S:0a80 (R) Bodks BOTNHD, o880 (S)H (R) HOTHS DS&m
(2) (S) HOTBABD s~ A (R) HOTHH
(3) (S) So0din(R) HOTNHD, 52005 ()8 (R)HOEHS 56w 5ds
(4) (5) R8ohad s (R) P2 Ghad
79. Match the following
List-I List-11
(A) White forelock (I} X-linked dominant character
(B) Beard in Man (I} Y-linked character
{C) Bobbed Bristles in Drosophila (IlI) Sex-limited character
(D) Follicular hyperkeratosis (IV) Sex-influenced character
(V) XY-linked character
(BoBardR =& Hrdde
5081 SGETI
(A) Beoly Swofsfooy (I} X-Sdedy prdd ofmds
(B) poiwed® Ago () Y-ddred) ofinde
(C) Lﬁ-‘#“'ﬁﬂtr'ﬁ‘ ﬂ'g D are (IlI) ®ord DOd ofedn
(D) 05l a8 366 °H0 (IV) Dod |(derdd ofodn
(V) XY-orod) ofese
The correct maich is
ald J0THE Aoy
(Ay (B) (C) (D)
(1) (y @ (V) (m)
(2) M a [@n v
(Ivy (mn v
4) (V) @y vy @
Rough Work
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§0. Statement (5) : Carbon dioxide produced as a result of cellular respiration combines

with water to form carbonic acid that increases the blood pH.
Reason (R) ED: must be eliminated from the body to maintain homeosiasis,
(1) Both (5) and (R) are correct, and (R) is the comrect explanation to (3)
{2) (S) is not correct but (R) is correct
(3) Both (S) and (R) are correct, and (R) is not the correct explanation to (8)
(4) (S) is correct but (R) is not correct

Fzeg (S) D Em wgdBohd® 28385 CO, 288" 500 2o 8 wliomr JOnd&od.
»Odom pH adahédod,

rdoix (R) ‘&*‘ﬂ:ﬁr@*hﬁ L!mmgﬂﬂﬂ Cﬂz Boro Ho00 TwHds Hoddob
Sodool,

(1) (8) &:0cie (R) Bod ‘;J«GE!»}.-‘&D. Sabcin (S} (R) 20THS Di30m
(2) (S) HOTLHG s =0 (R) HOTS8
(3) (S) Ho0chw (R) Tods DOTHID, doddin (5)52 (R) H0Tha S3dm s*el

(4) (S) HOTLSL. =0 (R) HOTWAE s5*th

Rough Work
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PHYSICS

Equal masses of three liquids A, B and C have temperatures 10°C, 25°C and 40°C respectively.
If A and B are mixed, the mixture has a temperature of 15°C. If B and C are mixed, the
mixture has a temperature of 30°C. If A and C are mixed the temperature of the mixture is

REPS Bdgorbor o 3 |Gares A B S0cin Coo 3dnm 10°C, 25°C Sa0dsw
40°C adrfiidod: §Ociuaryon. A Jo0din Bods 0S5, do|fSoSn 15°C
AFASS: LONNI)0. B B8c5w Coss §DLSYs DoFSdn IPC &S
£OBnE 8. A Se0d8n Code H0%3%d oS adf|rd

(1) 16°C A2) 35°C (3) 20°C (4) 25°C

82,

==

Assertion (A) : The air pressure in a car tyre increases during driving.

Reason (R) : Temperature of air in the tyre increases due to friction of tyre with road.
Increase in temperature results in an increase in pressure according to Charle’s law.

) Both (A) and (R) are true, (R) is the correct explanation of (A)

(2) (A) is false, (R) is true

(3) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(4) (A) is true, (R) is false

REEe (A) @ SdRdr edybypd s BEHE LEsdn bhibss.

Témo (R) @ 88 B e 5ol BHED md oF 1S Ddbibdod. b
Naibioo [Ssrdo aPiés'y hhds HDSor bide Db &0E,

(1) (A) $:0080 (R) Dudn H0dn (A) H (R) HOTHS I86m
(2) (A) 85, (R) Demo
(3) (A) 300l (R) Dedn 50 (A) £ (R) D00 Diddm s
(4 (A) Do, (R) &3y

The room temperature is + 20°C when outside temperature is — 20°C. Room temperature is
+ 10°C when outside temperature is — 40°C. The temperature of the radiator heating the
room is

wdbe adqdd - 20°C ad e af AL adf|idd + 20°C. wobo adfid - 40°C
ad)ipds 48 afidd +10°C. wond A8D J8 Wins) dathed: agysd

(1) 40°C (2) 70°C @) 50°C (4) 60°C

Rough Work
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The successive resonance frequencies in an open organ pipe are 1944 Hz and 2600 Hz. The
length of the pipe if the speed of sound in air is 328 m/sec, is

5 SU08 Mhod® Tods S0 edad TRryargos 1944 Hz So0dix 2600 Hzeo

=

mOS* e Jdo 328 misec wond Tgo W) rdDH

(1) 025 m (2) 040 m (3) 050 m (4) 0-04 m

A progressive wave of frequency 500 Hz is travelling with a speed of 330 m/s in air. The
distance between the two points which have a phase difference of 30° is

500 Hz fio a8 H&'nrds Sdofe mdS* 330 mis Ioé Bdrddos. WPw Sv
Fdo ADAS Tods DodaHe Sogly drdo
(1) 0-025 m (2) 01l m l}ﬁ] 022 m (4) 0-055 m

86.

If *f" is focal length of lens in Ramsden's cyc picce, cross wires are placed at

(1) distance behind field lens

(2) distance behind the field lens

(3) distance in front of the field lens

'

(4)

distance in fronl of the field lens

Tad | o | oL | e g | =

T Trgoddmd ol)dl wifbfod® wd BHS® wd0f waTis

(1) £ |18 $0D8 3Hd — Srdodt

(2) |8 Sordt IHE - Srdost

N

(3) 218 fasDE Swoth drdodt

drdodt

| = ey

(4) B8 fo=DE Swodh

Rough Work
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91, The Van der Waal equation for ‘n' moles of a real gas is
(F+%] (V —b)=nRT
where P is pressure, V is volume, T is absolute temperature, R is molar gas constant and
a, b, ¢ are Van der Waal constants. The dimensional formula for ab is
'n' Brdy JesrdnHiH aodl od HhESwmo
a
[P‘ +ﬁj (V=b)=nRT
modad® P-LddSn, V 300drmdn. T add agfid, R Breb ovdin
?g-:ru!ém. S28ciw a, b, coy o0df o>f 'iu'u-m. ab 2:3 Prdoyer
(1) MLT? )‘.P/ ML*T2 (3) ML*T? (4) MLST?
92. Displacement of a body is (5i + 3] —4k)m when a force (6§ + 6 + 4k) N acts for 5 sec. The
power in watt is
(61 + 6] +4K)N wodw § Do o SHHD 50 TvSHdo o8 (5 +3j-4k)m
FRFord) To8I8. sond g sin >fodt
(1 32 (2) 16 B) 64 @ 96
93. A ball is thrown vertically upwards from the top of a tower. Velocity at a point ‘h’ m
vertically below the point of projection is twice the downward velocity at a point *h" m
vertically above the point of projection. The maximum height reached by the ball above the
top of the tower is
wf Fpddn S0l Vg Do ol wod BE VIS0, (DED Dol Hold
R Jeodm ‘h' m Bod Doy & oD FHdw., (D83 Dodeyp Sood oL
RNeem ‘h'm ol Dode 3¢ o) Fordd BPon. Feddan ol pod 03
A8h O
4 5h
~h il
(1) 2h @ 3 @) 3h @ 3
Rough Work
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A ball at rest is dropped freely from a height of 20 m. It loses 30% of its energy on striking
the ground and bounces back. The height to which it bounces back is

Dords BB NNy o8 w08 20m I8 Hod REYT DS0B58. e8 Fod
ESRa: oD A8z S 30% K8 18D F'oyom wb 80N b F05H. wa
i P03 J4

(1) 6 m (2} 14m (3) 9m (4) 12 m

The apparent weight of a person in a lift moving downwards is half his apparent weight in
the same lift moving upwards with the same acceleration. Acceleration of the lift is

(Bob8 Sy O3S0 fdeo wf Sp8 dydp grddn, od 03 o8 deboins
28 PHGH5 e Ho edd &)y wrdod® HHdn. » D) Wod; drdmdn

(i g3 (2) g 37 g2 (4) g4

A 3 kg sphere makes an inelastic collision with another sphere at rest and they stick

th
I
together after collision. After collision, the composite mass moves with a speed of [E)

of the initial velocity of 3 kg sphere. The mass of second sphere is
Ik [B5507% So o8 A¥sn Jodo PBS* Py 268 Aees BOYry wHa oy
edordo Jodia. uDirds dorgd wd ud:rﬁian*lm. sDPrdo 'dogd mocing

I
[$Sgord 3 kg Ave &0 Fdost [ :TJ‘" Sods Frod* 300038, Tods Avo

Lﬁﬁsﬂ*ﬂ .
(1) 3k (2) 12 kg (3) 6ke () 9 kg

Two particles of mass | kg and 3 kg have position vectors 2i +3j+4k and —27 + 3] — 4k
respectively. The position vector of centre of mass of the system is

1 kg S:0a80 3kg [Bogorho EDAS Bodo SModo TR Dhdes SEhr 27+ 3) + 4k
Bo008 -2i+3]-4k, wond © 3535 W ESgod Yoid PS5 A
() §+3j-2x @) -T+3j-2k () -T-3j-2k (@ -T+3j+2k

|

Rough Work
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A block of mass ‘m’ is placed on floor of a lift which is rough. The coefficient of friction
between the block and the floor is p. When the lift falls freely, the block is pulled horizontally
on the lift floor. The force of friction is

'm' (EEgord de af By af DY) Ty AdH Jel Hodudio. odns,
L2} Hod Emﬁ; ‘éagﬂ fomgdn o3 'f»aﬂﬁaﬂ' Ddiddypde, ) Jowh
@ 85 E8x Daroddomr ovfpdis dode veodn

1
(1) umg @Y zero (d5g0) (3) 5 nome (4) 2 pmg

A circular disc rotates freely about a vertical axis through its centre with angular velocity w,.
A nng having the same mass and radius as the disc is placed on the disc and the sysiem now
rotates with an angular velocity @, about the same vertical axis. Then o fw, is
af Syesd 0¥ o) Todie Mol Férgs) of Jwd efo TJowd o
s'dai> Jrtos* bgsym Wikvwo FHod. v H)mss DS LIP3 (B3g0E
2bdn DArR aglrdo SORS of Sosd Dol Hmsly DE)DE ol o
Lp5% wd Do Jwy sfo Towd [Fomo ThSHE |Phe o o, vond wj,
2 1 3 1
ay 3 @ 3 ® 3 @ 3

100,

Two horizontal circular discs of different radii are free to rotate about their central axes. One

disc is given some angular velocity and the other is stationary. Their rims are now brought

in contact. There is friction between the rims. Correct statement from the following is

{A) Force of friction between the rims will disappear when the discs rotate with same
angular speeds

(B) Force of friction between the rims will disappear when they have equal linear velocities

(C) Angular Momentum of the system is conserved.

(D) Rotational Kinetic Energy of the system is conserved

(1) (A) (2) (D) (3) (B) (4) (C)

3 da& Fgargren Ao Tody §82 Diredd Jymsdy D e o) Sodgs

erre gy ByEyT (Fhesn ddided. af D¥ 5 Eod ol Jadwn

adgedss, HEYL Dijodor a5)8. T esoho DH)0ohdEder 8D

cudild. oo udp e ol Sodadd HOTLS DEdwm

(A) D es Bird S 388 Phoo InSPdo oo H¥g Pgp wodx
W ydgdaniad

(B) ﬂﬂ;w 2B dbdh Frw £ONdinsy wodhe a'm;’;; 2o vodo ey ¥ pdotid

(€) Sgay &'dah |@sg Fddw DEgdssin Tods

(D) Sg8% (oo A8=48 Dépdgin Todod

(L (A) (2) (D) (3) (B) (4) ()

Rough Work
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101. An anificial satellite of mass *m’ is revolving around in a circular orbit of radius ‘", If the
mass of carth 1s M, angular momentum of the satellite with respect to the centre of earth is
(G-Universal Gravitational constant)

‘m |SSgord Ao 85 adfirds grd Her ' aydrdie fdo dyesd
€5 58" B%Mdhys. Frd (S5g0% M wond, #r SoldBdon &by
ol @y Fefdn (G-D4g MEEy Bboodo)

GM
(1) @) JeMm?’ () 2MVGmr (@ 2mGMr

102, A mass is suspended from the end of a spring. When the system is oscillating the amplitude
of oscillation is 4 cm and the maximum kinetic energy of oscillation of the system is
I joule. Then the force constant of the spring is
tf Loygeih D30 ol (Eigod (Fodbaondss. & Bp5n SobIPd oo
fo2d D08 4 cm. S0dn BgEw Thos) A0D Lodd ABx43 | joule. wownd
Bysei: we Borogdn
(1) 250 N/m (2) 2500 N/m (3) 500 N/m gdﬁ 1250 N/m

103. When a metallic wire is stretched with a tension T, its length is [, and with a tension T,
its length is [,. The original length of the wire is
u¥ S'ey 865 T, 8388 Frddhind od >dH I, $8ak0 T, 85388
FHLDIDE R DEH I, w 84 50 4%

I‘T""'rz ¥ I T '-'IJJT -F']I +!2 T|
[y =54 o T2 o i @ T

104. A capillary tube of radius ‘r" is immersed in water and water rises in it to a height *h". Mass
I
of water in the capillary tube is $%10°) kg. Another capillary tube of radius (5] is immersed

in water. The mass of water that will rise in this tube is
T oEgrgdn o o TAT0EN DOS Suodddd H& W Jd dnarbia,

wipds BAr0ES* D (S5goR 5x107 ke [%] Tg;gin Mo S5 AL

NdS* Buodipds, oDEDE Jferls b |EHgor®
(1) 5x107 kg (2) 7-5x107% kg {_}} 252107 kg (4) 1x107 kg

Rough Work
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105, Two copillary ubes A and B are arranged in parallel. A liquid flows through these capillary
tubes under the same pressure head. Both the tubes have the same length. The radii of A

r g : .
and B are r and 5 respectively. If the rate of Mow of liquid through A 15 8 cm’/s, then the

rate of flow through the combination of A and B 1s
A S:0cin B od Tode F400dw Sdroddonr w8 pdsd. ¥ LdY i
58 o8 |G53» & 0o Moo (D3riged. & Tod F0Sw uT PEY

£0n GSnd)D. A $:008 Bo sgdges S6HM ¢ H0dn 3. A oger (83

Bardr Yo Som'ls wond A S:0ck» Bo Dodniidn oge (padrd Tww
(1) 16 em/s (2) 80 cm¥s (3) 1275 em¥s (47 85 cm’/s

106. A body is floating in a liquid. At two temperatures 1,°C and 1,°C of the liquid, fractions [,
and f, of the volumes of the body remain immersed in the hquid. Coefficient of volume
expansion of the liquid is
nf SWd) of (GHS0d dwdryps;s. 1,°C Hbde ,C &4, o (8 S0
S@d) SuNh 6y yrddwes SHbDm ) Sode [ sond, |gi3in D
'f.,:.:u:&".':ﬂ-frtl? T 1 Hamsﬁmf ; s s

. k. J hel> 5 1+ 1+13
L}ﬂl iy —fa1z 2) fz ll'rlil 3) fyty+6;1; @ g+t

ll]'.F Two rods of lengths L, and L, are welded together to make a composite rod of length
(L, + L,). If the m-r:iﬁm:nt of linear expansion of the materials of the rods are o, and a,

mspcmnu_-l:,-_ the effective coefficient of linear expansion of the composite rod is'

L.L, @4fHe o TBods !éﬂm 3ol Tdb (L, +L,) drdid do of DHodwg
g4 dhard v fdo Dogy BYg Ty Koo SESHM ; S0dia a,
wond, Doding ¥4 By g5 MmEswn

L uq Lyay Lya;+Lsa
iy = 7‘ L @ Jae ® S

T

108. An clectrical device which offers a low resistance 1o the current in one direction but a high
resistance to the current in opposite direction is
(1) Rectifier (2) Current Amplifier
(3) Power Amplifier {4) Oscillator
wf 04" Ddgd RaTrdeih 455 RE'Go, 558TE b4 DS ParFRE
QS DEEsn fexid Ddigh DOLESw

(1) dEa5,0d (2) Dol HP¥En
(3) rdegy SgE3w (1) &'o¥swn
Rough Work
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109. For a transistor to work as an amplifier
(1) its emiter and collector junctions are in forward bias
(2) its emitter junction is in reverse bias and collector junction is in forward bias
1;3}' its emitter junction is in forward bias and collector junction is in reverse bias
{4) the transistor must have breakdown region
Catht<1] S¢fom P B ST Y
(1) = agrdd Hocin LESS JDodo PSfadrSd’ soad
(2) o agrd¥ Hod BEwdridsr, HEdd Sof HSooirhatis scod
(3) o0 agrds He@Pbladirhd S, ol hEde Hod 85'udr5HStsr soad
4) |2yl I}ﬂ,':,ﬁh |rodo aoard

H0. A certain particle has a half life of 60 seconds. The fraction of the particles that will decay
al the end of 10 seconds is

o dord emd 60 wied vy ddésvo £ONHEL. 10 HEed VST Lablodl
woophoss (>ogod ﬁ:‘-l waopoh Diydw .

(1 2% @ -2 @ -1 M (1-2Y%

111. A radioactive substance has density p, volume V, and decay constant A. If the molecular
weight of the substance is M, and Avogadro number is N, then the radicactivity of the
substance after time *1° is

g 'ﬂﬂﬁl}*@*ﬂli .'{:a:-'g'u Waosy dro(dd ‘p' [wIDdIreo V' Jabain DdubS
2oofo A’ @R wooyrdo ‘M wdd|E domg N, wond v seo dorgd
Tad@rerd 8 Baried

AV =M AVpN k
() AYPNac @ (25N )i-+)
fOAN, N, V] .
. Ny ¥ 1T
:;I" "-"pM o3 [r:M ]E
Rough Work
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112. The de-Broglie wavelength of a free eleciron with kinetic energy ‘E’ is A. If the kinetic
energy of the electron is doubled, the de-Broglie wavelength is

E-A8z 48 fo of hgo) Jogase oy & @4 SdodBdge AL Degrada
(8u4E Dododes wowd, ord 4-wrl SdofiBgge

A A
(1) 2 @ 73 @ 3 Jm-"ﬁl

113. The X-ray spectrum coming from an X-ray tube
(1) is monochromatic
(2) No minimum or maximum wavelengths
(3) has all wavelengths greater than a certain minimum wavelength
(4) has all wavelengths smaller than a certain maximum wavelength
X-38ema0d Soow E-Ii,l:. X-Bdm Sgnto
(1) d¥sgon Gotuod
(2) Ho@,. B9 S0 B grgoe dody)
(3) =8 D@0 Hw ddofip gaﬂﬂﬂ"l SEnd S00fBg o GoLTon
(4) =8 28 fg, -3 dﬁﬂﬁEgEuEa'l €5 SfedBgrgos aouTon

114, The deflection of the magnetic needle in a tangent galvanometer is 30° when a current of
one ampere flows through it. The deflection of the magnetometer when a current of 4 amp
flows through it is

aroBod musﬂmmm oy o a¥ wobhdhl Eﬁ:g#_-ﬁn-::nm as o ypds sdlgod
Hr0¥ wdSddo 30 DdgsyyTro 4 amp BétroDd mogdtotd® sdhamod
arnd eddho

D) o (J2) ) tan™ (8T)
(3) tn (1:73) (4) tan™' (2-31)
Rough Work
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115. A long straight wire along the Z-axis carries a current ‘1" in the negative Z-direction. T
induced magnetic ficld B at a point having coordinates (x, y) is
Z-wfo Jowddeo of EIJS 850 S8S T Vs ysairo wowd § Z-04¢
(3% &0b. (x,y) JErbidoes SOAS o Dokl 3¢ (oS wdhdyod (8
B &eod

pol (yi—xj) pol (xi - i)
) 2% (x? +y*) ) 2w (x4 !.-'1}
ol 333 ol G-37)
o 27 (x* +y%) ® 2y

116. The thermo emf in lead-iron thermocouple with one junction at 0°C, is given by ¢ = 17841 — bt®
in volis, where t°C is the temperature of the other junction. The neutral temperature is
371:7°C. Then the value of b in V/(°C)? is

o¥ uofS¢* bbo-aldn ﬁ’guﬁ;}n’auﬁ‘ nf Dod 0°C 58 adHHd emfl a3
Jore e = 17841 — bt’. & "m'Lei L‘bs'ﬁu e, 5":_;::::'!5‘ o, ﬂﬁ,}ﬁ bt DHod
agfiid °C ¢ aod, ﬁm@ a@fid Jend 371-7°C soxd, b Dwd VICC)Y s
(1) +96 () -24 (3) - 96 yl} 4799

117. A conductor has a non-uniform section as shown in the figure. A steady -m;rrcnl, is Mlowing
through it. Then the drifi speed of the electrons
wgof'd whiodBmr PHI) ef D8ps 84 Deod® Jrbider Hobd. oD
dofdm Ddgl (Boiro dokod. o'l 8% Fdo

;

(1) is constant throughout the wire (2) wvaries unpredictably

(3) decreases from P to Q _A{4) increases from P 1o Q

() &8 wodur ’.gdnn' soteod (2) % odTd Ddomr Srddcd

(3) P 3o08 QF Si:docd () P dood QF dafadicd
Rough Work
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118. A current of 16 A is made to pass through a conductor in which the number density of frec

clectrons is 4%10% m™ and its area of cross section is 107 m?. The average drift velocity
of free electrons in the conductor is

107 m* egs's o¢ E:u?g'dgﬁ Breogda, 4102 m? Ry JugyE wosg
ro|dd £DAS 28 Deogd arirgo dooar 16A Dapdyyariro Desd aodede
a5, gt Ldo ":aaﬂ'_') Jogr e Besd

(1) 165107 ms! @ 25410 ms' (3) 642107 ms! (@) 325107 ms™!

119.

A non conducting ring of radius 0-5 m has charge of 1-11=107"" C distributed
non-uniformly on its circumference. An electrical field is spread everywhere in space.
The value of the potential at the center of the ring is (approximately)

05 m avgdrgo L0 wf sIir¥ fofmo 1110710 Cl D&ogE edrdy R
500 58 ebhd 68 dFor DESm FolPHold. ¥oimo &ifd Budo (98B0
oo o Dgl E (S0 IBBoDHIyDpds Sofe Yoo & WY Jwod
(Rodrdarmr)

(1) 4V (2) Zero (o) (3 2V f;i] 1V

120. Three charges Q, + q and + q are placed at the vertices of a right angle triangle (isosceles

triangle) as shown. If the net electrostatic potential encrgy of the configuration is zero, value
of Q is,

Hdbe wrire vonk'o (Bghe fddoeo ddd Q,+q,+q D&gh wdroo aayo
(hbod® Srbiss). o hiwecde TR Dégs LB=AE DT Jeod By
wsond, Q Jo0d

Q
ol
. I#
+q " +q
~2q + q ¢ +2g -4
) 33N @ ¥ @ 2:702 * 25
Rough Work
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CHEMISTRY

121.
H,/Pd-BaS0), Zn-Hg / HCI

H,C - coCl » A
What are A and B 7
A H0ciw Bes 207
(1) HyC - CH,OH, H,C - CH,
(2) H,C - CH,Cl, H,C - CH,
B). H,C - COH, H,C - CH,

‘() H,C - CHO, H,C - CH,

w

122. MnO300°C
2 H,CCOH » A+B+C

What are A, B and C in the above reaction 7
2 S8z AB S0cin Coo 207

(1) CH,CH,CHO, H,0, CO,

(2) H,C COCH,, CO,, H,0

(3) CH,CHO, CO,, H,0

@ H,CCOCH,, €O, H,0,

Rough Work
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123. In the Hofmann mustard oil reaction of primary amines, the black precipitate is due to
9Seb IPod DB BopE wond $EpS Sl eILdIn J6ydeH STasn

(1) BaS (2) HgS 43) CuS (4) Ag,S

124. The structure of bakelite is
diod TWed; Jopede

CH,OH on 9

OH 1 OH
o ™ @ B ™)

ol CH,OH

OH OH
CH, CH, 0-0 CH,
o U™ @ OO

125, ¢-D (+)- and p-D (+)- glucopyranoses are known as

(1) Enantiomecrs (2) Epimers
3) Tautomers (4) Anomers

a-D (+)- So0d50 p-D (+)- Ar8adifuod wowrd

(1) Qaryedrdegs (2) Qe
(3) er&tSags (4) 2588
Rough Work



126. Maich the following
& (208 8N =dnddisn
List-1
(A} Hormones
(B) Lipids
(C} Vitamins

(I3} Enzymes

Dor-1
(A) &85
(B) Dugs
(€) Dokg
(D) JoBSen

The correct answer js
POTE Ddroedse

(A)  (B) © (o)
(I avy am v (1)
2) y @ qvy (V)
@) vy vy am (1
@) am avy) (v (I)

D\

List-11
(I) Biocatalysts
(I} Peptide bonds
() Triglycerides
(IV} Message carriers
(V) Essential dietary factors
aDe-]1
n &= 4By a8smen
iy 'hzrﬁ LoD
() B3n506e :
(IV) BErord Sarevsioen (& s g0 atad)
(V) edt50d* Sopg 38 Sorgrey

Rough Work
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127. Cell constant of a conductivity cell is
{1} Conductance / Specific conductance
(2) Specific conductance / Resistance

(3) Specific conductance / Conductance

B Speci 1000
{41 Specific conductance * Normality

:}dagﬁ Tard Hibo TloEy Wb ‘:,3:?::5:5::
(1) avirsd | O%3 Firsd

(2) 23% SEEs [ AEGER

(3) DAp TWES | FIrES

1000

(4) ngh TeaEd ® —
= :l'u'lﬂﬂ

128. The distance in pico metres between cenires of two closest sodium atoms in the body
centred cubic lattice of sodium metal with a unit cell length of 43 A is
43 A asrdd wd SdH do wod: do|od dwrod Fado i ".J;j-ﬂﬁ'nﬁ‘
©8 SHEm a5 Dot Fdako BELr@YS Fogsswe gy drdan bEtebod’

(1y 214 (2) 372 {3) 256 (4) 328

129, The half life period of a first order radioactive decay of an element is 5 days. The time (in
days) taken for 8 g of this clement 1o decay to | g is

of Burnély BESESroY TATre08 a5 wgrdiny 3 Favwr B . &
forofdn | r. 365 Lobdn FobEIs B soin (Gwrod®)
(1) 10 A2 15 (3) 40 (4) 25

130, The degree of dissociation of N,O, in
HI ﬂ-t ,—.-u-l‘iﬂﬂ: is (.
(#) (&)
If initial N,O, (g) is one mole, the total number of moles at equilibrium is
N, 0, ==2NO, &* N0, Jed w50 w Fod N0, (o) &8 3rS wond

(=) (=)

::mﬁ"!g:'i 5 Swdo Jrdo Doy

(1) 1-a (2) 142 M 1te (4) 1-2a
Hough Work
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131. The solubility product, h’.ip of Ag, CrO, is 3-2 = 107" at T(K). Its solubility in mol L' is
T(K) 8¢ Ag, OO0, [ordciahed egdn, K =32x107" od |ovsdoid 30d b 'les®

(1) 4= 10°¢ (2) 4= 107
(3) 2 x 107 (47 2 = 107*

-

132. For a reaction 1o be spontancous at all temperatures
(1) AH and AG should be negative
{2y Only AH should be negative
(3) AH and AG should be positive
(4) Only AG should be positive
wd) edido 5¢ of ¥y wdhd)fjdor zdmeod
(1) AH Ho0din AGer wumd)Sfom goad
(2) AH SrsH anerd)for aoad
(3) AH 3:0d8» AGes Fardyfom aoad
(4) AG drgth gardifomr sood

133. Enthalpy of chemical adsorption, AH in kJ mol™ is in the range of
garadan H&&""uﬁ‘i_la .:qu:n'tl-;,;. AH 235 38, 1.8 lod
(1) 20 - 30 (2) 500 - 1000
(3) 410 - 500 A4) 40 - 400

134. Which one of the following reactions does mor correspond to the preparation of “synthetic
gasoline” during the Fischer-Tropsch process 7
& (Bod Sdged® 20 Dub-erh) 1gas® Vi Bl ML sdirbl DowobodBs
e 7

(1) €O+ 3H, — CH, + H,0
(2) hCD*—InHz—hnCHIGH

(3) nCO +20H, —— C H, +n H0

(4) nCO +(2n + 1) H, » CH, .. +nH0

Rough Work
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135. The reaction which does mot liberate hydrogen is
oAl Seedfoudl Sdg 8 7

(1) Zn + NaOH ——— (2) Al + NaOH ———
aq Bo conc md

(3) F,+ NaOH —— (4) C + NaOH - —
conc ma molten s

136. Which of the following statements are correct 7
(i) Boron reacts with concentrated HNO, to form nitric oxide and boric acid
(ii) Boron rcacts with fused NaOH to form H,O, and boric acid
(iii) Boron reacts with 8i0, to form Si and B,0,
2ot Ddmod® HOTHLID ID?
() &5, g HNO,E 383500 BOE uE 16 H0cn 5708 edydnois D& ydadoro
(i) &*o5, o5 NaOHE $85F08 H0, 5005 5'08 udduoid 28 yGaiad
(i) &*o°5, Si0,8 $EgTod SiS0cn B0l 28 0adads
(1) () & (i) (2) (), () & (ui)
(3) (i) & (i) (4) (i) & (iii)

137. The reaction that gives CO, as one of the products is
CO,% af Bdiradgiom adyy Sdg

2500 - 400°C

(1) Fe,0,+3C

-

-

(2) 3C + 4 HNO,
(3) SnO, + 2C
(4) 6 NaOH + 2C »

L

138. An oxide of nitrogen (X) is formed when Z is reacted with PO, X is soluble in water and
gives Z. Which one of the following is Z ?
Z3) P,08 "6y ToboDdPde FS'eS Ty «F 5 (X) J6ydd. X et
£60 ZD) mayde. & (80d T8 L 207

(1 HN{}J (2) H:“;:ﬂz
(3) HHDz _A4) HN,
Rough Work
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139. Which reaction produces 50, ?
2 &g S0, Jdys0r

(1) 2Nas, +30, 4
air

-_’.

boiling
{2) Na:S{}j-r 5 —
EXCess wh o AL, TR

(3) NasS,0+2HCI—
dilute 2635

——

142. In the reaction

I V50,
SD + 5 o ——, 80,

the change in the oxidation state of vanadium is from V5 to
(Bos gt

| V,0,
ED; 3 U‘z—'—-—n} SID

880 u!&!ﬁn ::-Eﬁ"‘ 5..1'15.:"3 V¥ 2504
(1) v (2) v+ 3) v+ (4)  yee

Rough Work
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143.In the electrolysis of alumina using cryolite, the reaction that takes place at cathode is

ETnBE HeTmraod Fon sorgha ddgagiansed’ sFE 34 ailb
11

(1 12F
(2) 4H,0 + 4" —— 2H, + 4 ON"

—¥ GFI + 12

(3) 6F, + 2A1,0, ————» 4AIF, + 30,
(4) 4AP* + 12¢" ——— 4Al

144. The pair of chemicals that maintain heat balance in troposphere are
S*dS8mod’ ag dddege >d FXdhd doge =8
(1) H0, NO® ) €0, 0,°
(3) 0% 0, 4) Ny, 0,

145. The stationary phase in paper chromatography is

(1) Paper (2) Solid

(3) Water (4} Organic solvent
Lol Bt bt po (&

(1) 58 (2) Doddw

(3) ~ds (4) 2633 (@dode

146. The energy difference (in keal mul"] between the staggered and eclipsed conformations of
ethane is
SHPS Budy ehign H0dx (fre eldraae doggie 4§ Bdo
(8.5 Brdlodh

(1) 1-3 (2) 29 (3) 36 4 20

Rough Work
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147, Identify A, B and C in the following reactions

& (2ob SOgod® A,B 5005 Cods Mgoded L [ 1o
C e
o HNO,/H, SO vageen bed <
@ 4 % ﬁ q u i [ l::hli\ﬂlti"'ui 1!:- Ls ¥
PPRe 0 NI
NO,
HMO,/H, 80, . ﬂ[r;;"..r-gni—T Lo
> B
NH,
E‘J
» C
A B C
CH, NO, NH,
NO,
(1)
NO, Br
CH, NO, NH,
@ Ej Q) @l
NO, Br
NO,
CH, CH, NO, NH,
. NO, Br Br
(3 +
: NO,
NO, Br
CH, NO, NH,
e 3 9
NO, NO, Br
Rough Work
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148. What is the correct Fischer Projection of (R) 2-hydroxy propancic acid ?

(R) 2-%m @y (o5 onE GSdn Tefy H0TS PLE Pide S8

COH

2 COH

(1) H OH {2) HO H
CH, CH,
CH, CH,

@ H= OH (4) HO H
COH COH

149. From the following dipole moment {in Debye)

values of methyl halides, identify the value
of C} I; - F.

NJS FBhoo Tas & foa B34)8 @Sy dovdes® Eposh,

CH, - F Wwt Jesdsb M8 ofdw.

(1) 1-860 (2) 1636
(31 1-830 (4) 1-847
Rough Work
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150, Identify the reagents A and B used in the following reactions
G (Bob Sgodd A 50din B sE¥dnod Mfoipix

SENCETe

(1) Zn, Cl, / FeCl, (2 Sn/HCL, Cl, / hv
(3) Cl,/ Fe, FeCl, (4) ClL/hv,Zn

151. Which one of the following statements is correct for an electrolyte solution when its concentration
is decreased 7

/[,'Ir} Specific conductance decreases and molar conductance increases
(2) Both specific and molar conductances decrease
(3) Specific conductance increases and molar conductance decreases
(4) Both specific and molar conductances increase

af Ddplyiag Edely mdsi dfodipd & Bl HELL T -:}ﬁ POELEL?
(1) 28% =irEd SMhdold H0dwn Jrob g8 dibéod

(2) D% Sdcin Jrerd erdde Sheton

(3) 235 FrEd Mol Hode Jrerd oirfs ddodiod

(4) 2%2 Sobddw Jrel irfdoe wdiberow

152, The synthetic semi permeable membrane used in Berkeley-Hartley method is

(1) Potassium Ferrocyanide 9’ Copper Ferrocyanide

(3) Potassium Ferricyanide (4) Copper Ferricyanide

B00-558 5g8¢° avTWriod €85 oy 234gE ¢

(1) Sorhache pIEtHa RS (2) =58 pPE* P8

(3) reradie HPREEE (4) =af PPtz b
Rough Work
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153. Which one of the following solutions has the lowest freczing point ?
808 o8d" wdgoy PNFIH PIdw Ao |TSosn?

(1) 02MNa, 50, " (2) 01 MUrea (3) 02 M NaNO, (4) 01 M BaCl,

154. Which one of the following gases has the same RMS velocity at 27°C as that of N, with
RMS velocity of 5-0x10% em.s™! at 7°C 9

7°C 3¢ N, Siogy RMS Jifo 50x10" o.d. %™ wond, 808 o d08 27°C
¢ od RMS ddc sodoiso?

(1) CH, ) C,H,, (3) C, H, #) C, H,

155, Which one of the following is an example for disproportionation reaction 7
(1) Zn(s) + CuSO, (aq) ——> ZnSO, (aq) + Cu(s)
(2) Ag™ (ag) + Agls) —— 2 Ag* (aq)
(3) 5(s) + O,(g) — S0, (g)
(4) Py(s) + 3 OH (ag) + 3 H,0 —— PHy(g) + 3 H,PO; (aq)
(Bod odd’ Jo wddrd SighH soirEn?
(1} Zn($3) + CuSO, (o) ——> ZnSO, (o) + Cu(d:)
(2) Ag* (mo) + Ag(Hs) — 2 Ag' (z0)
() 8(32) + O)(=) —— S0, (&)

(4) Py(39) + 3 OH (mo) + 3 O — PH,(a7) + 3 H,PO; (meo)

Rough Work
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156. Which one of the following is correct regarding o molecular orbital 7
{1} The rotation along the inter nuclear axis is symmetric.
(2) It is formed by the partial overlap of atomic orbitals at right angle to inter-nuclear axis.
{3} It is a very weak bond,
{4} The overlapping region is very less.
0 o wdyerds Howodod (Jod dd’ D& HOTHL?
(1) wodd Hod¥ efo™n (Fwo Fodol dobwod.
(2) =0 wodd fo|85 eyt oiw 844" 0jdh wBirdo =0RSNE JE dd0d.
(3) =& of edgod uu‘h';i__‘ﬂ:.ﬁ wod b,
(4) wdrédo m0AD rodidn Tur dES.

157. Which one of the following is mer correct ?
(1) The central atoms in PF,, CIF, and XeF, have sp’d hybridisation.
(2) The “bond order” of H,, N, and O, follows the order : N, > H, > O,.
(3) The ionic nature of KCI, MgCl, and AICIi follows the order : KCl = Mgﬂli > AlCl,.
(4 In CsCl lattice, each Cs is surrounded by 8 CI” ions.
Bo8 &' D8 LOTHIL £
(1) PF,,CIF, $o8d%0 XeF,06°0 Ho|88 S65rmes sp'd HodbderDy 40N aajon.
(2) H, N, 5:0¢» 0,0 "wod|fSidn" Tol) ESdn:N,>H, >0,
(3) KCl, MgCL Sa0ae AlCL o edrdf Hgerd (Fesw : KCI> MgCL, > AICL,.
(4) CsClazrofod® 8 Cs Sk 8 CI” sdirdicsotron.

Rough Werk
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138, Assertion (A) : In the formation of oxide ion, ﬂ""[g}, first an exothermic reaction and
then an endothermic reaction take place.

Reason (R) : O ion has comparatively large size than oxygen atom.

The correct answer is

417 Both (A) and (R) are true, (R) is the correct explanation of (A)

(2) (A} is not true but (R) is true

{3) Both (A) and (R) are true, but (R) is not the comrecl explanation of (A)

(4) (A) is true, but (R) is not true

PBER(A) ¢ ©E 38 edrS, 0f(an, J0ydedt Bude 63 Idd Sdg
S8R0 agmird Sdp adibhs.

siesa(R) :  e2j=s Sdireed fod, O 203radn FDiom I8

w0 TS saw

(1} (A) &b (R) oo Juds, (A)S (R) DO5LS 254w

(2) (A) Dudsn sv&, 52 (R) Dudw

(3) (A) S:0ciw (R) Dudxn, 0 (A)% (R) 205003 Didn =&

(4) (A) Dudwn, =0 (R) dudn s

159. If the difference in the wave numbers of the first (lowest) two lines of a series of hydrogen
atomic spectrum is 53317 cm ', they belong to the (R, = 109680 cm™)
(1) Lyman scries 42Y Pfund series  (3) Balmer series (4) Paschen serics
| Fea Beirm ::g*.*moﬁ‘a nE Li:ﬂé‘ Dodd (edpey) Tods Bpo 880
bopge Sy BESH 53317 ol wond w2 dDE TodID (R, = 109680
wa.d™
(1) 255 (et @) ®eb (g (3) >d:8 (dd (@) >ays (i

o

160, The first spectral line in the Pfund series of Hydrogen spectrum is given by {RH = Rydberg

constant)
o (Feh E-E:bbnﬁ' wed s’ Jnde sgoe i (Ry = 08§ Hoofin)
OR S6Ry 1Ry TRy
{]} T{HP‘ (2'.' 16 {3] W00 H} 144
Rough Work
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